
�����������������������������������������������������������������������������������������������������������������١ 

�ا�����ت ا�������� و
�� ا�������� �

  
  
  
  
  
  
  
  

: �� ا������ ا����� : ���ل 
س
٣  = 

٦
٩   

 : ا� �
س
٣  = 

٦
٩   

  
  ١٨=  س ٩  

  
 س٩

٩  = 
١٨
٩   

  ٢=      س 
� �


ن���
	����ق:�  

  :�� آ� $���� ��� &%$� 
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اآ�� ���د�� $�M9 . ر&�L ١٨ ���ا �( ا���K&( 9ـ ٣٠ ا�I�ى �3دل  :���ل
 �N��Oات و��P�3. 9�( 63د ا� -(6& Qـ و آ�  ���O ( و)7 ٤٢دل&Kا��� )� ا��� 
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٢٤ = ٣ × ٨ 



�����������������������������������������������������������������������������������������������������������������٢ 

  
  

  :�� آ� $���� ��� &%$� 
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